Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Time: 3 hrs.
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Note: 1. Answer any FIVE full questt%zs, choosing ONE fu

. &
uestion from each module.
2. Use of discrete mterestf cftg”rs table is allowed.
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. - Module-1 )

a. Explain how the proble m% solving process leading u 1mately to decision making carried out,
with a neat block dxagr “% 5 (08 Marks)
b. What are the dlffegpn o bctween intuition and analy51s‘7 (04 Marks)
c. Explain tactics @tgg trategy with illustration. (04 Marks)

4 &

) OR
a. Explain d”ﬁ’%@nt types of law of returns.# (08 Marks)

b. Suppose borrow Rs.8000 noWskwith the promise |
accun%gﬁ“iated interest in four yeariat»an interest rate of 1
owe at the end of four years? " ¥ 4 (04 Marks)

c. A saver plans to deposit RS’*ZOOO in a money mar tarting one yearfrom now and wants
to increase annual depo%lts”‘?by ‘Rs. 1000/- each arf or the following'six years. The deposit
earns of 9% annually. D%Eermme what equ%l%payment annuity would accumulate the same
amount over the 7 years period. M?‘&w M (04 Marks)

zepay the loan principal plus
per year, how much would you

i ¢ (06 Marks)
b. An 1nvert®rs ‘can make three end o “year of Rs. 15*“‘0&0/— which are expected to generate
receipts of Rs. 10,000/- at the- end ‘6f year 4 that wﬁ}wmcrease annually by Rs.2500/- for the
followmg 4 years. If th Vpstor can earn a yra%te of return of 10% another 8 year
(10 Marks)

(06 Marks)

of type 2 1 hme and a short hfe of 4 years. The more expensxve type 2 machine costs
Rs.25,100/- and can be keptiin service economically for 8 years. The scrap value from either
machine of its life will b,ﬂarely cover its removal cost. Which is preferred when minimum rate
or return is 8%7? (10 Marks)

Module-3

Explain in brief ethree types of rates of return. (06 Marks)
A farm house can be purchased for Rs.90,000 and the expected resale value after 20 years is
Rs.60, OOO% If the annual rental income is Rs.11 ,800 and expenses Rs.4,700, what will be the
rate of um eamed on this farm house. (10 Marks)
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6 a. Whatis depreciation? List and discuss the cause of depteciation. (08 Marks)
b. A CNC machine costs Rs.30,00,000 is estimated o sefve for 8 years after which its salvage
value is estimated to be Rs.2,50,000. Find : @ /
i) Depreciation fund at the end of the Sﬁi &yealg%' fixed percentage method and declining
balance method. L e "
ii) Book value of the machine after 4™ fém nd 6" year by declining balance method.
& g (08 Marks)
‘W %M(jdule-4
7 a. Whatis costing? List and explain,components of cost. : (08 Marks)
b. A firm is producing 100 unifé%géi day. The direct material cost is found to be Rs. 160, the
direct labour cost is Rs.200 and factory overheads chargeable to it is Rs.250. If the selling
expenses are 40% of't ~§§£§%ﬁbry cost what must be,the $elling price of each unit to realise a
profit of 15% of selling'price? X, (08 Marks)
& %’&i§ OR
8 a. Explain in breif yatious methods of allocatien of overheads. (08 Marks)
b. A medium scal¢ industry has its own machine shop with 15 lathes and 10 milling machines.
Lathes o¢ y' 45m” area while millifg machine occupy 30m’ area. For the previous
financial year the industry has incurred the following costs y&%
Buildingiand depreciation rent Ay s. 1,50,000 g@@‘
Indirect Labour and material P .4,50,000 B
Insurance 4 © Rs.2,00,000
Depreciation charges of lg’fﬁ@é%» . 1,50,000%
Depreciation charges of milling 4
Power consumption foggaﬁies 00,00(
Power consumpt;%g for milling Rs. 1,j5\0,/'v(;];00 o y
Find the maching hotir rate for lathes and milling machines if'they worked for 25,000 hours
and 20,000 hours respectively. - &4 P (08 Marks)
sy, "%, Module-5 ..
9 a. Explaitrbricfly types of sougé@’ - finance. A (08 Marks)
b. The company X having c%f&%i”nﬁ reserves and surplus has the following details as on 31st Dec.
2017 ' N
Dividend payable * 000, Debtors 1,60,000
Bank balance ' > ) | Bills payable 20,000
Equity shears - Plant and equipment 80,000
Provision for taxes Bills receivable 20,000
Stock ™. Creditors 55,000
8% préference shears 1,35,000 | General reserve 40,000
Land and building. 2,00,000 | Cash in hand 15,000
Prepare a balance sheet a{s@&bn 31% Dec., 2017. (08 Marks
10 a. What is profit planning? What are the objectives of profit planning? (06 Marks)
b. What are the types'of budgets? Explain with examples. (08 Marks)
c. What are the dangers of budgeting? (02 Marks)
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